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1.   Trees and plants. / Once there are no longer trees and plants on an area of land, there is nothing to 
stop the wind and rain from blowing or washing away the top layer of soil.                    (6 marks) 

2.  when the top layer of soil is destroyed                                                                                (6 marks) 
3.  farmers overcultivate their land                                                                                           (6 marks) 
====================================================================== 
4.   erodes   ( 5 marks )                                                                                      5.  grazing    (5 marks)      
====================================================================== 
6. The activities of human beings are often the real cause of desertification.                       (6 marks) 
7. Overcultivating makes the soil poor and unproductive. / Farmers tend to overcultivate their land, 

with the result that the soil becomes poor and unproductive.                                          (6 marks) 
======================================================================= 

8.  b. miscellaneous types        (6 marks)                           9.    c. both a & b                      (6 marks) 
====================================================================== 

10.  qualified                           (6 marks)                            11.  maintenance                             (6 marks) 

======================================================================= 
12. exercise / get the right amount of exercise                                                                     (6marks) 
13. maintain important controls / maintain the environmental control and life support systems  

 (6 marks) 
======================================================================= 

14. At  ( 6 marks )          15. was ( 6 marks )                      16. A ( 6 marks )        
======================================================================= 
17. mad  (6marks)          18. such  ( 6 marks )          19. weaker (6 marks)    20. these (6 marks)    

====================================================================== 
21. What is law?                                                                                                                      (8 marks) 
22. What do laws have to do? / What do laws have to organize?                                               (8 marks) 
23. Who makes sure that people obey the law? / What do police and judges make sure that people 

obey? / What do police and judges make sure that people do?                                          (8 marks) 
24. Any logical answer is accepted.                                                                                        (8 marks) 

====================================================================== 
25. I wish he could find his keys.                                                                                           (8 marks) 
26. We have come up against serious problems in our plan to recycle rubbish.                    (8 marks) 
27. Ahmed went to the airport in order to meet his brother, Khaled. / In order to meet his brother, 

Khaled, Ahmed went to the airport.                                                                                   (8 marks) 
28. They’ve given the green light to the building of a new incinerator.                                  (8 marks)            

====================================================================== 
29. present simple / present continuous                                                                                   (7 marks)   
30. past simple tense                                                                                                                (7 marks) 
======================================================================= 

31. permanent  ( 6 marks )        32. running out of (6 marks )       33.  because   ( 6 marks )  
======================================================================= 
34. was playing  (6 marks)                                                                35. would go (6 marks)                
36. has increased / has been increasing  (6 marks)    
======================================================================== 

 ( marks 10 ) . مقابل الملاحظات في العالم الطبيعي \أمام  \جميع النظريات إزاء أن تختبر  \ يجب اختبار  .37

 
38. Famine / Starvation led to the death of thousands of people in Ireland in the nineteenth century / 

19th century / 1800's.                                                     ( 8 marks) 




